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H/Wﬁ%’r:

() 39 Y¥I-YF &1 g Y, G 3 3K 9T §, F Fier Wy & | 379eht 3 9 &
ol & IR 7@ & 1

i) @t 397 SR F

(iti) @ IeT-77 § 15 397 & HiE 797 97 787 8 |

(iv) STTH YFT I IR YT T F T T & I JAG-JUF 9T F IR T
forad &

(W YT H P YA G 1 T8 P Y9 TH-Uh 3% & & | §7% IR U 36 379al
T FIHH G

(i) 9T 7 & Jo7 &I 4 T 6 F ¥ G1-3 Bl P & | F9F I ATHT
30 gl H 348 |

(vii) N7 37 & ¥¥T G&IT 7 G 18 & F¥T di1-di7 3Hl & | FHH I TTHT
50 gl H 37 & /

(viii) 9T 37 & Y97 Q&7 19 & 24 & J97 Gi9-9i9 3H & 8 | 599 I} AT
70 95 H 318 |

(ix) 97T & & Yo7 G125 & 33 & o7 JAVTIcHS I R STEIRT Fglashed] 397
g | 9% J97 UF 37 &1 8 | 130 70 TR a9l § @ 379! FacT U TGI8
I9YH faheq g1 8 |

(x) U T & §97 &I 34 T 36 F Iv7 JINTHE HIVicT T TERT 31-31 37hl &

Yo7 8 | 57 IR Glera 4 37 3 |

General Instructions :

(1) The question paper comprises two Sections, A and B. You are to attempt
both the sections.

(it)  All questions are compulsory.
(iit)  There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be
attempted separately.

(v) Question numbers 1 to 3 in Section A are one-mark questions. These are to
be answered in one word or in one sentence.

(vi)  Question numbers 4 to 6 in Section A are two-marks questions. These are
to be answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section A are three-marks questions. These
are to be answered in about 50 words each.
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(vtit) Question numbers 19 to 24 in Section A are five-marks questions. These
are to be answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions
based on practical skills. Each question is a one-mark question. You are
to select one most appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.

"I A
SECTION A

1. 39 gaarE avft & Tt of gt aew 1 onfvas ¥ fafen fSaer wom
o= 4T 7 | 1

Write the molecular formula of the 2" and the 3™ member of the
homologous series whose first member is methane.

2. 9 IS hINTeRI S Bl 8, d6 38 DNA I 1 BIdT & ? 1
When a cell reproduces, what happens to its DNA ?

3. Tmfafed @@ J@e , ;W HI 100 J Sl 394 7 | Icureeh T R Fha
oIt 3uctsy off 2 1

RIS > fewor > I
In the following food chain, 100 J of energy is available to the lion. How
much energy was available to the producer ?

Plants —— Deer —— Lion

4. I3 foarel 15 cm B gl & 3fadd ¥ ¥ 30 cm g0 W @ § | oW grRI A
iafers o =R Tfaen (Spfa, feufa, omfe) &t g=h ssT | 2
An object is placed at a distance of 30 cm from a concave lens of focal

length 15 cm. List four characteristics (nature, position, etc.) of the image
formed by the lens.

5. ()3, T (ii) I-SET % &0 % 3 @Y faRau | 2

State two advantages of conserving (i) forests, and (ii) wild-life.
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Explain two main advantages associated with water harvesting at the
community level.

7. UM H WA GRIT | w0 g § S W @G H,S0, % e b
443 K R T fopan Srar g 2 Afufshan o1 adfiehtor faRaw qen s& erfufsean #
g H,S0, i fiFsht 1 3g@ i | 3
Write the structural formula of ethanol. What happens when it is heated
with excess of conc. H,SO, at 443 K ? Write the chemical equation for the
reaction stating the role of conc. H,SO, in this reaction.

8. Y% & fau yamfe wdehr i gerar @ el R STt
srfufsramati o e favgd AN | () w&el, IR (i) Mg sk
Teh-Ush 39T faAfau | 3
Distinguish between esterification and saponification reactions with the
help of the chemical equations for each. State one use of each (i) esters,
and (ii) saponification process.

9.  IMYFH Tad Grelt § Edl IR Tl i g fafau | () foreft srmed # e
3R ¥ R IR TH W, AT (1) forelt g # IR § Fi90 IH | T & aifcash
rf¥reteront | forg yepr afterd= grar 8 2 o194 I it Hror Afga gfse i | 3
Write the number of periods and groups in the Modern Periodic Table.
How does the metallic character of elements vary on moving (i) from left
to right in a period, and (ii) down a group ? Give reason to justify your
answer.

10. Na, Mg 3 Al 3Tgfeh Tad RO o T 3TEd o aod & [oeh] THg d&A1
HOM: 1,23 137 | 310 U fha a@ i (a) TNl 3w, (b) T
B stfteeaw, qen (o) TEEe Afufshamfiaar siftear 8 2 3% & fou
319 IR I HROT Aigd e HIT | 3

Na, Mg and Al are the elements of the grd period of the Modern Periodic
Table having group number 1, 2 and 13 respectively. Which one of these
elements has the (a) highest valency, (b) largest atomic radius,
and (c) maximum chemical reactivity ? Justify your answer stating the
reason for each.
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11. S HS{al 1 T 3= HeaqUl A0l 3 | 30 o & 98 H dF R0 e | 3

Reproduction is one of the most important characteristics of living beings.

Give three reasons in support of the statement.

12. TRk YaeA 1 2 239 fofe o 4 aw 31 g griar fafe | 3

What is vegetative propagation ? State two advantages and two

disadvantages of this method.

13. THYRE I Tehd o U foaepfaa st T8 A dehiehl ht = 915 | 390 &
hIF-Ht Tehrileh JoNI o ToTU T&l 8 ? 3 dehriiohl o1 S9N fohd YehR foreft aftam
% T IR Tgig I €Y yifad ot g ? 3

List three techniques that have been developed to prevent pregnancy.

Which one of these techniques is not meant for males ? How does the use
of these techniques have a direct impact on the health and prosperity of a

family ?

14. ¥eda 4 I8 fopa YR Tose fopa f o2 @wa 2 o6 &I w1 Iwiga &1 S
gt fopelt Sfia & =ar 9 g1 W4T ? 3

How did Mendel explain that it is possible that a trait is inherited but not

expressed in an organism ?

15. “Sta-fowE qon Sfai 1 aEffehtol TR THEad 3 |7 39 e hl RV Higd
gfee Hifor | 3
“Evolution and classification of organisms are interlinked.” Give reasons

to justify this statement.

16. e g oiw e wmy feora fonelt fomar <t fopeht oft fearfa & forw wRa & dfen
3R BleT Ufdfera ST 7, 1 39 iF shl Thid T g ? 379 IR ki gfse fopom
I EiweRt ST | Ife 39 g St &auar 1 J&denss A1 10 D 8, df i
TUTTEAT o STTER $Eeh! Bk gl T 3 ? 3
If the image formed by a lens for all positions of an object placed in front
of it is always erect and diminished, what is the nature of this lens ?
Draw a ray diagram to justify your answer. If the numerical value of the
power of this lens is 10 D, what is its focal length in the Cartesian

system ?
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17. ohld o fopell TS5H GRT Yad JehT=T o TI&I9UT 1 RV fIRET | =qed = i & o
Taun a0l g w7 fhe wohr gt T v ehrer @ aort o1 S @ 2 foR
A Ei=eht 3T o S g HhIU Tad ThRT IS Th-gil § Io¢ e
e % < gagg a5 gaioH & gug 58 & T Bt W fofehd: S
AT 7, A1 39 TASH T 39 YT T AT BT 3 2 3
State the cause of dispersion of white light by a glass prism. How did

Newton, using two identical glass prisms, show that white light is made
of seven colours ? Draw a ray diagram to show the path of a narrow beam
of white light, through a combination of two identical prisms arranged
together in inverted position with respect to each other, when it is
allowed to fall obliquely on one of the faces of the first prism of the

combination.

18. (a) I T A< HEdYUl UThfdeh HEIEA 8, S Siad & fofw oma # |
3mass fosr & freres o8 =med & 56 19 TeTeHs godioh fehamehard &
for,  “smomem Tepfae P — ST B HE S fow W R A
TATET | 5T Bl Sy S0 & R H 3794 YSIE H SATEshdl 3cae i o
foTT =18 g U™ gEmsT |

(b) Tl T U™ &1 TW R IFHI =T HIGT fSES gy e T i
IR e R & Temr o1 & | 3

(a)  Water is an elixir of life, a very important natural resource. Your
Science teacher wants you to prepare a plan for a formative
assessment activity, “How to save water, the vital natural
resource”. Write any two ways that you will suggest to bring

awareness in your neighbourhood, on ‘how to save water’.

(b) Name and explain any one way by which the underground water

table does not go down further.
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R A bPiiiiiiitt Hisi 'iAiAAAiikiiiEPEPAPAPAPAAAAAAAAOOMKGSA}I® Y~
mw;ego FO AMMel 1 ETESIhET b hegl Il & ? Ueohd, Ucshd 3N Uoshrzd i
Trsdt Afore 1 e g fafae aun e avft % yem wewr i weeE o
dify | tehm W e # uRafia w0 A afifen w1 am fafen si
TEES TR g 3H AR % BN % fou strevEss aifeutaEt s ot
ST | ’

Why are certain compounds called hydrocarbons ? Write the general
formula for homologous series of alkanes, alkenes and alkynes and also
draw the structure of the first member of each series. Write the name of
the reaction that converts alkenes into alkanes and also write a chemical
equation to show the necessary conditions for the reaction to occur.

20. (a) TN HIEI 4 9F & (ARG Icdsh HHT o HET bl IgE I

1) USRI
(i) TR
(iii) PR =&
(b) T ST H TAB=CT shl TLEAT 3T AT 1 3gT@ HiT | 5

(a)  Write the functions of each of the following parts in a human
female reproductive system :

1) Ovary
(i1) Uterus
(iii) Fallopian tube

(b)  Write the structure and functions of placenta in a human female.

21. JcIeh i Teh-Ush IeTEUUT eehl IUTIS SA&IUNl S ST @eron o e fasien
Hifore | foreft =afte grr o1ae rqul Sfiad-hrel § IuTioia dequn/aya el Hie
o T I TR B ? 38 A S RN IETE ¢t TUSE hHITTT | 5
With the help of one example for each, distinguish between the acquired

traits and the inherited traits. Why are the traits/experiences acquired
during the entire lifetime of an individual not inherited in the next

generation ? Explain the reason of this fact with an example.
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Frafafaa o aiferert o1 favetwor Fifse, Sad s9a <@
foregll (w) &% @y glafersgll (v) 1 fo=or gerian w0 g,
giehe fopu & fFfefaa gwai & s &S

H faraghl ghdfera-gl

& u (cm) v (cm)

1 — 100 + 25

2 — 60 + 30

3 — 40 +40

4 — 30 + 60

5 ~ 25 + 100

6 ~15 + 120

(a)
(b)

(c)

Analyse

H feufa o
iR fom +5E

ITA E I BlhE g FAT @ ? 319 I hT I < g Hror i |
39 eTu <l shH HE fafae St wel el § | T8 ey o fohw smmem

T erTen 3 2

foreht 3fa YU 1 A HE EE 2 % YU & forw TR oM
Hifau | srmaedd 1 @y 7 39 HIT |

the

following

observation table

showing variation

of

image-distance (v) with object-distance (u) in case of a convex lens and
answer the questions that follow without doing any calculations :

(a)

(b)

(c)

Object-Distance | Image-Distance
S.No.

u (cm) v (cm)
1 - 100 + 25
2 - 60 + 30
3 — 40 + 40
4 - 30 + 60
5 - 25 + 100
6 - 15 + 120

What is the focal length of the convex lens ? Give reason to justify

your answer.

Write the serial number of the observation which is not correct. On

what basis have you arrived at this conclusion ?

Select an appropriate scale and draw a ray diagram for the

observation at S.No.2. Also find the approximate value of

magnification.
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23. (a) gfe forelt edur gro Soes gmq fooa fora Y forelt off fourfa & form wew
& Biar, Her it eyt gfdafors smar 2, O 3@ gdur it whfa fafaw
3 3o I I gfee & forw fomor e oft wifew | 5@ gohr & 2duit
&1 Th I fIRgu qon 3h1 SUINT b TR ST B, W 3g@
HIT |
(b) AT U i dshar B hi gt faiRge | feeet el edur i
Tehld 3T ishd gl T HSY, frershl skl B + 24 cm @ | 5

(a) If the image formed by a mirror for all positions of the object
placed in front of it is always diminished, erect and virtual, state
the type of the mirror and also draw a ray diagram to justify your
answer. Write one use such mirrors are put to and why.

(b)  Define the radius of curvature of spherical mirrors. Find the
nature and focal length of a spherical mirror whose radius of
curvature is + 24 cm.

24. (a) Tieghe v @ fifsd #1E ®H 5 m @ Al gt W feua forrall 61 wqee
T @ urar | 39 g QW % 3c9F BH %k q HuIfad hRon i e
FAT3T | fortur ST <h HERET ¥ ST hifay foh
) @8 ®F 5m ¥ AH g W oa forai =1 we & 48 <@
qrdr |

(i) 39 gfSe QY o TG & foTu 38 foRE TR & T T ITAN ST
IIET 3 38 @ o ITAT ¢RI 39 <Y okl GeNed fohd IR Bral
3 |
(b) afe, 39 THU H, GRNYH F hl Bihd gl I TE&ACHS HH 5 m 7, I
Fft Frdfa fog il & 3ER 39 ofF 61 a|ar 31d i | 5

(a) A student suffering from myopia is not able to see distinctly the
objects placed beyond 5 m. List two possible reasons due to which
this defect of vision may have arisen. With the help of ray
diagrams, explain

) why the student is unable to see distinctly the objects placed
beyond 5 m from his eyes.

(i1)  the type of the corrective lens used to restore proper vision
and how this defect is corrected by the use of this lens.

(b) If, in this case, the numerical value of the focal length of the
corrective lens is 5 m, find the power of the lens as per the new
Cartesian sign convention.
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SECTION B

25. & 39 Th WEA H AIfeTd Fghai-e hI U ookl ITH UHIh 370 ohl
FS F¢ SO &, Al ARG § § HIH-AT J&07 FLd & ? 1

(A) I3 IAMTRaAT &1 Bl

(B) Gl g aTeht TTEH 19 &1 gl geeeree o any fom=d
(C) g gegeree o | L T I A9 w1 fom=a

(D) UM 3R TgEH 19 o FeAGeAl T ST

When you add a few drops of acetic acid to a test-tube containing sodium
bicarbonate powder, which one of the following is your observation ?

(A) No reaction takes place

(B) A colourless gas with pungent smell is released with brisk
effervescence

(C) A brown coloured gas is released with brisk effervescence

(D)  Formation of bubbles of a colourless and odourless gas

26. ISR AMAGRAT T AL A TUF AT SR B I o wrn | fopedt
TTEH aeafd 9 § NaOH sl 20% Sielig faerm fema 8, & & Jeqor s
8? 1
(A) T 1 1 TEU U B R B
(B) ofe # fiet gegaree & W 2
(C) iRt =1 ded I8 A B T R
(D) et T TR IS8 381 &1 T @

While studying the saponification reaction, what do you observe when
you mix an equal amount of colourless vegetable oil and 20% aqueous
solution of NaOH in a beaker ?

(A)  The colour of the mixture has become dark brown
(B) A brisk effervescence is taking place in the beaker
(C) The outer surface of the beaker has become hot

(D) The outer surface of the beaker has become cold
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https://byjus.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

®BYUs

27. Torelt BT 1 IWhT TS § RN i 6 fTT H3R S Afge AT 1|-u1d
% &F T IUcey gl & | JANRCT § S dEU &, Sl g 9 H "o |3
FER T A A B | v A Ed wE A A 9w gh P e
AU I A I H =l A W I HSW I &1 ¢ | 1
(A) HifeTm FANES, TehRrm FarEs
(B) wifesm Hethe, dIRRm Tethe
(C) Hifsan ohe, hicuaq Tohe
(D) o™ Hethe, hicHam FANES
A student requires hard water for an experiment in his laboratory which
is not available in the neighbouring area. In the laboratory there are
some salts, which when dissolved in distilled water can convert it into

hard water. Select from the following groups of salts, a group, each salt of
which when dissolved in distilled water will make it hard.

(A)  Sodium chloride, Potassium chloride
(B)  Sodium sulphate, Potassium sulphate
(C)  Sodium sulphate, Calcium sulphate
(D) Calcium sulphate, Calcium chloride

28. feaorwelt ofiw o o1 & fafim 9Tt 6 9g=m 1 S S % Tt gayed
39! i3 fgsioreeht e =niey | fefafga g 9 9 fgeiesht s g .

g, =1, Heehl, WY, i, Yha! 1
(A) g, T IR AKX
(B) =T, AT IR Hrohed!
(C)  HhT, T 3 St
(D) =T, R 3T JTohei!
To perform an experiment to identify the different parts of an embryo of a

dicot seed, first of all you require a dicot seed. Select dicot seeds from the
following group :

Wheat, Gram, Maize, Pea, Barley, Ground-nut

(A) Wheat, Gram and Pea

(B)  Gram, Pea and Ground-nut
(C) Maize, Pea and Barley

(D)  Gram, Maize and Ground-nut
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oy, st § P wfew @ §
3T, AT, Hell, ST, TSR, ieh!
T O B g afcat gusta st o1 gel e S § 2 1
(A) TSR 3R A
(B) 3 3R o
(C) Heft 3R TR
(D) Wit 3T Awehl
The following vegetables are kept in a basket :
Potato, Tomato, Radish, Brinjal, Carrot, Bottle-gourd
Which two of these vegetables correctly represent the homologous
structures ?
(A) Carrot and Tomato
(B)  Potato and Brinjal
(C) Radish and Carrot
(D) Radish and Bottle-gourd
30. feu wTu fotor M@t &1 STeA Hifw R f=fiifead o & @&t ®ed g . 1

™

J

L 1 I/

«——20 cm qiat
<« 25 cm—

(A) g X e U0 2 AR IRk Y 3IqA o &, Hehl Biehe gRAT shush:
20cm 3 25cm 7 |

(B) I X 39 o9 2 3N Ik Y oradw gdw 2, et wieww gt sam:
10 cm 3T 25cm 8 |

(©) I X 19da o9 2 3R Ik Y 390 v 2, fSeht wrehe gt e
20cm3ﬁ'{25cm§I

(D) I X 390 8 2 3N Ik Y 39 ouw 2, fSeht wra gt shawr:
20cm3ﬁ'{25cm§I
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31.

31/1

Study the given ray diagrams and select the correct statement from the
following :

%}"

«— 920 cm Screen

<

1 7 77

Screen
«——25 ecm—>

(A) Device X is a concave mirror and device Y is a convex lens, whose
focal lengths are 20 cm and 25 cm respectively.

(B) Device X is a convex lens and device Y is a concave mirror, whose
focal lengths are 10 cm and 25 cm respectively.

(C) Device X is a concave lens and device Y is a convex mirror, whose
focal lengths are 20 cm and 25 cm respectively.

(D) Device X is a convex lens and device Y is a concave mirror, whose
focal lengths are 20 cm and 25 cm respectively.

s BF IqA ¥ g Topdl gy fora 1 gaa Sfdfers T W Jed hial g |

e T TS Ficiferes ITed i o 7T 38 edur sl Rawesn gmm 1
(A) WEHF
(B) WG I 3N

() foreft Tt feurfa o i g & TR T B
(D) 1 Al W I AR A TS ¥ g, g fora 1 fearfa o frvfe e 2

A student obtains a blurred image of a distant object on a screen using a
convex lens. To obtain a distinct image on the screen he should move the
lens

(A) away from the screen
(B) towards the screen
(C)  to a position very far away from the screen

(D) either towards or away from the screen depending upon the
position of the object

13 P.T.O.
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32. I3 B AT A@IHIYE® ATIAT DIV (£ 1) o g A1 % g *i= *
TS | e FTell TehTer Rt @1 99 STRREd T 7 | TR 98 3TdaH hivl
Jdeh UM o AU 3Tade i (£ r) 3T Tl I (£ ) & Td 91 <l HT9dT

2 | 3 HIN shl HIYT o1 fIwaiour stk 30 1 sy fHepteran =nfgu 2 1
A Zi>Zr>ZLe

B) Zi=ZLe>Zr

(C) Zi<Zr<Ze

(D) ZLi=Le<ZLr

A student very cautiously traces the path of a ray through a glass slab for
different values of the angle of incidence (£ i). He then measures the
corresponding values of the angle of refraction (£ r) and the angle of
emergence (£ e) for every value of the angle of incidence. On analysing
these measurements of angles, his conclusion would be

(A Zi>Zr>ZLe
B) ZLi=Ze>Zr
(C) Zi<Zr<ZLe
(D) ZLi=Ze<Zr

33. fmafafga ferwor s w1 stegem HifST -

~ o 7

34 M@ H 3Ia i, fHria o X faaes 10 =61 swuwn: foees g fefua

foramm e B 2 1
A y,p z
B) x,q,z
©) p,y,z
D) p,zYy

31/1 14
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Study the following ray diagram :

In this diagram, the angle of incidence, the angle of emergence and the

angle of deviation respectively have been represented by

(A y,p,z
B) x,q,z
C) pyz
(D) p,zYy

34. TANRNET H | oW o U srevas amft (TOmfae ugel) &1 3g@
Hifore | ARt arfufshan o stfufshan fsmor i wepfa (eTeia/aiE) <
Fruffa o aren wewr 3my fha g 1 2 989 d guH hHifvg | 2

Mention the essential material (chemicals) to prepare soap in the
laboratory. Describe in brief the test of determining the nature
(acidic/alkaline) of the reaction mixture of saponification reaction.

35. o7fier o fg@ued &t ufshan &l (IR =AON gRT) SHHER 3TE WiFe guIisy | 2
Draw in sequence (showing the four stages), the process of binary fission
in Amoeba.
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36. I3 B 10 cm HIhE g % IAA IH I ITANT Hich ©iF H AW 2 m gl W
T AmeRt 6 STl I W W BIHAd AT B | 39 UvEq 98 SaTell Sl
- ofg i AR Rggeprar 3 MR & IR 3ok Ufdfems 1 W T HIhiad
T 7 | 2

(A) T W SITAT hl HIhUd i o U 39 @9 &l frg fesn 9 fagesmn
B B 2

(B) WZ W &4 SITAT o ldfer o 189 H &7 37T Bidl & 2
(C) WS W s Sarel o Yfdfers sl disrar (Imeh) | o= =< fe@rs ar g 2

(D) e SaTell ofF % §gd UE (FTWT 5 cm gl W) B 7, A We W
femé <ar 2 2

A student focuses the image of a candle flame, placed at about 2 m from a

convex lens of focal length 10 cm, on a screen. After that he moves
gradually the flame towards the lens and each time focuses its image on

the screen.

(A) In which direction does he move the lens to focus the flame on the
screen ?

(B)  What happens to the size of the image of the flame formed on the
screen ?

(C)  What difference is seen in the intensity (brightness) of the image of
the flame on the screen ?

(D) What is seen on the screen when the flame is very close (at about
5 cm) to the lens ?
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